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1. BEEBOL
(1) iU
—ARIEBRBAEE - AR EERAS 32, 200, 000 13, 800, 000 46, 000, 000
EAMEZRFIA 32, 200, 000 13, 800, 000 46, 000, 000
BEINEE 32,200, 000 13, 800, 000 46, 000, 000
(2) BEER

= 36, 513, 000 0 36,513, 000

% B RN 2,520, 000 0 2, 520, 000
BHRRTH 6, 050, 000 0 6, 050, 000

25 4, 300, 000 0 4, 300, 000

EE ikl 2, 200, 000 0 2, 200, 000
REXBE 1,010, 000 0 1,010, 000
BIEEWRE 588, 000 0 588, 000
RIS A 3, 285, 000 0 3, 285, 000
ZIBIEE 15, 000, 000 0 15, 000, 000

HE 1, 560, 000 0 1, 560, 000
EBE 0 9, 480, 000 9, 480, 000

% B RN 0 2, 700, 000 2, 700, 000
BHRRTH 0 1, 500, 000 1,500, 000

25 0 550, 000 550, 000

EE kol 0 410, 000 410, 000
REXBE 0 1, 050, 000 1, 050, 000
BIEERE 0 300, 000 300, 000
HERE 0 200, 000 200, 000
RIS A& 0 8,000 8,000
EEH 0 600, 000 600, 000
BAR{E RN Z 0 100, 000 100, 000

HE 0 2,062, 000 2,062, 000
BEEA 36, 513, 000 9, 480, 000 45,993, 000
SRR AR LRSS -4, 313,000 4, 320, 000 7,000

Bl Ene= Ty 0 0 0
LEREEREE -4, 313,000 4, 320, 000 7,000
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